:'F:_‘—::‘":-"—l"“'

- ‘

Fo—T—2
SOACT

=
=gl =pet oottt e e Rt

uuuuu

T R
1 |EROMONEE (M6 EE)
2
3 B4 B (1)
4 EE 613000
5 (FBE 696500
6 |IFEE 148700 |
T =R 178400, |
8 |2t | [
g |7
10

64




-1 N -2 N -2 W 7-4 | -ﬂ.-'- [ T-2 N -]

- B BT R 51 KA B Wi T

I -5
4 I HEE
5 #HEE
BESE
7 |=mE
'Aiﬁ'f'
iy

B (L)
B13000
BB 00

148700

178400

-

65

I = e |
| 4 B ¢ |

1 BEflofHEoiEs (FRsER)

3

SR E MR (1)

4\ EE #13000

§ #iRE 696500

B IFER 145700

L ﬁ%ﬂ!ﬁ- 178400

e

g @iﬂ

g |
Bl = e B
& 7 &Eli = |—H§/ \ B [= [ &t ]

| 4 B ¢ |
QORI D ERE (P RE L RHloRORRE (Frs RK)
3
L hee [ s mg R
§ #iRE 4\ EE #13000
B EEIR 5 (#HRE EBSEUU
7 'ﬁ%ujﬁ- B IFER 145700
B 5ot 7 ﬁ%ﬂ!ﬁ- 178400
e B Eat
T I b T
10 |




s Hifoea HEgws. H
BT S Tt Tt
iy il iy il
DfEF A, DHEF A,
IR IR
g4 FIF g4 FIF S0 FIF
el . Bl o w
g S| | ¥
FBEN FEL
270 270 270
& : & : & :
[ ok | ;v:nzm] [ ok | ;v:nzm] [ ok | ;v:nzm]

EEST ?‘3

(B, BT
Bl [ = (At 10/
| | E C
1 BilafEOEE (FrisEE)
g
3 |HE MR
4 mEE 513000
LB [#RE EEGHO0
B IFERLE 145700
T EmE 175400
I a0 1GERE00
T R 403150
e BEBROO
R
12

| -

G [ I
R ORCEER (FEs )

L

i

3 |BE i t)
L e BL3000
s FEE BaEo00
& [EEE 118700
T =R 178400
8 == 1636600
i B E] 409150
|33 N GBS0
11 Gk 142700
15|

£

| L Z B '
I EioRoiEEE (T FE)
g
T |EE TR (1)
o = L3000
T i A S BUEL 0
fEsER | L4700
i R 178400
| R 1kl
9 iz T - 408150

.JE?:Z ______________ G9E500

ok 148700

B

66



-7
74l |

o B LB Rl
Sra =2
Foq —Tb
Fa—T—

LTHET
e

J

-~

et il Rl
| | I,EE‘EIE'DUFEEJ |
T IAE ; LRI
ant
B=a% ‘
oIl AR Fari:
F1- ALk, peel = [ =1 =]

ok

Y #ob |

67




